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QUESTION 1

An author wants to apply formatng to a list report. In Report Studio, the author clicks a column in the list, clicks Select
Ancestor, and then clicks List Columns. In this situaton, which of the following is true? 

A. Formatng all columns will also format aggregate rows in the list. 

B. Formatng all columns overrides formatng for an existng formated column in the list. 

C. Formatng all columns afects all subsequent objects added to the report page. 

D. Formatng all columns ensures any new columns added to the list will have the same formatng. 

Correct Answer: D 

 

QUESTION 2

An author wants to create a flter on this report to only show Product line totals larger than 1 billion. 

What calculaton is used to create this flter? 

A. Detail flter as: [Total (Revenue)] for [Product line] >1000000000Applicaton = Afer auto aggregaton 
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B. Detail flter as: [Total (Revenue)]>1000000000Scope = Product line 

C. Summary flter as: [Total(Revenue)]>1000000000Scope = Product line 

D. Summary flter as: [Total(Revenue)] for [Product line]>1000000000)Applicaton = Afer auto aggregaton 

Correct Answer: C 

 

QUESTION 3

In Report Studio, what is a baseline? 

A. A value in a list report that other values are compared against. 

B. A constant value that represents the x-axis in a chart. 

C. A constant value drawn on a chart to indicate major divisions in the data. 

D. A break point that keeps part of a report statonary while the user scrolls. 

Correct Answer: C 

 

QUESTION 4

In Report Studio, why would an author use the Page Structure view? 

A. To move objects in a report. 

B. To change the underlying query. 

C. To add a new page to the report. 

D. To drive page layout using a query. 

Correct Answer: A 

 

QUESTION 5

In Report Studio, an author wants the report ttle to appear in the language in which the report is run. What property of
the report header must the author defne to create this variable? 

A. Style Variable 

B. String Variable 

C. Render Variable 

D. Text Source Variable 

Correct Answer: D 
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